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‘01 -E./M.Tech. DEGREE EXAMINATIONS, NOVEMBER/DECEMBER 2009.

SECOND SEMESTER
COMMUNICATION SYSTEMS
CO 1651 — MOBILE COMMUNICATION NETWORKS

(REGULATIONS 2007)

Time : Three hours Maximum : 100 marks

10.

Answer ALL questions.
PART A — (10 x 2 = 20 marks)

Why did the 2' G cellular system shift from Analog FDMA to Digital TDMA and
CDMA?

For a cluster size of 12 and signal 10 interference ratio of the cellular system
S/1 is 15 dB. The mobile is at a distance of 10 km between the reneed cells.

Determine the radius of the cell.
Mention the five logic channels used in GSM standard.
Compare WCDMA and CDMA 2000 3a systems.

Name the five different cell types in the cellular hierarchy with respect to
coverage.

How does cell breathing occur in cellular CDMA deployment?

Distinguish between the MAC layers of IEEE 862011 and HYPERLAN
systems.

How does Wirelesé senior network differ from mobile Adhoc Network?
What is meant by a trusted system? What are the requirements?

How does a worm propagate in general?
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PART B — (5 x 16 = 80 marks)

‘i) Compare the performance of different fixed access techniques such

as FDMA TDMA and CDMA in wireless network. (8)

(i) Write a technical note mobility management in cellular system. (8)

Or

(i) Enumerate the architecture based capacity enhancement

techniques used in cellular system. . i)

(ii) In a FDD cellular system has 25 MHz bandwidth and the voice and
control channels have the transmission rate of 50 KHz respectively.
If 2 MHz spectrum is allocated for control channels determine the

local number of control and voice channels. (6)

With schematic explain the physical reference architecture and mobility
support to GPRS network. (16)

Or

(i) Explain the process of power control and handoff schemes in IS-95
3 G system. (10)

(ii) Assume a receiver is located at 20 km from a 100 W transmitter the
carries frequency is 8 GHz and gain of the transmitting and
receiving antenna are Gt = 2 and Gr = 4 respectively. Find the

received power under free space conditioning. Height of the

transmiting and receiving antenna are 50 m and 105 m. _ (6)
How does a call have been established in cellular system? (16)
- Or

(i) Describe the physical architecture and functionalities of cellular
network with diagram. _ ¢ (8)

(ii) Explain the issues and importance of network planning in mobile

networks. (8)
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Discuss about the features and functioha]ities of MAC management
sublayer. (10)

Assume an open area with distance power gradient a =2 with
minimum acceptable signal to interference ratio = 10 to power
transmitted by IEEE802.11 Py =100mW the power transmitted
by Bluetooth Ppr —-10 mW. Determine the range of interference
with BS and mobile terminal for the care of FHSS. Assume the

separation between two devices is equal to 2 mts. (6)
Or
- What are the issues in implementing a wireless LAN? (6)

Explain the reference architecture and the protocol specification of

HYPERLAN. (10)

Explain the tai:oﬁomy of maliciéus program. (10)

Describe the role of Dgta fusion in security. V‘ (6)
Or

Digital immune system is a comprehensive approach to virus

protection. J ustify your answer. (10)

How does behaviour blocking spﬂ:ware work? (6)
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